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1. How many subsets can be formed from the following set :

11,2,3......n)
(l) n

(2) n2

(3\ 2n

(4) 2'

2. If ,4= ll,2,3l,B={3,41,C=14,5,6},then Av(B nC)is:
(l) {3}
(2) { l ,2,3,4}
(3) { r.2,3,51
(4) {1,2,3,4,5,61

3. In rule method, the null set is represented by :

(1) { }

(2) 0
(3) {x:x=x}
(4) {x:x*x}

4. LbtU= {1,2,3,..... l0}, A= i1,2,5},B = {6,7!,thenAnB'is (WhereA,&B'
represent compliment of A and B respectively) :

(l) A

(2) B'

(3) A'

(4) B

5. In a group of 70 people, 37 like coffee , 52 like tea and each person likes at.least one of
the two drives. How many like both coffee and.tea ?

(l) l7
(2) t8
(3) le
(4) 20
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6. The inequality

(r) 
[3, "")

3. S i, true, when x belongs to :
x

(3) (1,"")' (-*,0)

(2) (-.",3]

(4) None of these

10.

If A = {1,2, 41, then the identity relation on A is :

(r) t(r, l))
(2) t(1, l) (1,2)l

(3) {(2,2), (1,4)l

(4) { (1, l), (2,2), (4, 4)l

Let A = {x, y, z} and B = tl, 2}, then the number of relations from A into B are :

(t) 2s

(2) 26

(3) 23

(4) 22

The radian rleasure corresponding to -47"30' is:

(l) -Elc Qt l5n
72 72

t3) -Pn @'t 
t9 

n72 72

The value of sin [Zl) t. ,\.6/

(r) -€
2

G) -#

(2\

(4)

I
,

J5
2
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11. The additive inverse of (2+3i)2 is:
(1) -5+12,
(2) -9+l2i
(3) 5-t2i
(4) e-12i

#rr. Multiplicative inverse of 4 + 7i is :

(1) (-4*7i)
(2) *4+7i

l1
(3) -- + -i65 65

l7(4) 
--' i65 55

(l) 40

(3) 42

J

13. How many terms are there in A. P. 20,27,24,26,...., 100 ?

(2) 4t

(4) 43

14.- The sum of the first 15 terrns of the A. P. 5, fO, f S. 20, ..... is :

(l) 400

(2) 42s

(3) 600

(4) s2s

ls 
" [l -;].[-1
(l) 1,-2
(2) -1,2
(3) -t,-2
(4) 1,2

UG-EE-June, 20Al (Statistics-4 YT.XSET-Yy(A)
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10. Inverse marrix otl 2 -'l ,*,
L-4 2 )

(l)

(3)

(2)

(4)

-3
0

6

(2)

(4)

t12 3l
-* 

Lo zl

rlz :l_tt
sL+ z)

rlz q1
-rL, ,)
tlz q1

tL, ,)
rl
Slrs:
,l

33

32

17. The minor of -3 in the determinant

(l) 30

(3) 28

18. Let A be a square matrix of order 3 x 3, then lKAlis :

(1) 3K tAt

(2) K lAl

(3) r<, tA I

. (4) K3 lAt

19- Matrices A and B will be inverse of each o&er only if :

(1) AB = BA

(2) AB=BA=0
(3) AB=BA=I
(4) AB=I,BA=0

20- which of the following is not a property of inverse of a matrix ?

(l) (A-t)-t- A

(2) (Ar )-' = (A-t)r

(3) {,ln;t - A*18-l

(4) Adj(A-t)=(Adj A)'l

UG-EE-Ju ne, 2024t (Statistics-4 yr.)(SET-yy(A)
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21. For any positive integer n, liyt-t i" '
- x)a x-a

(1) 0

(z) |

(3) na"

(4) nan-l

sin 4x .
Lim ""' "' is equal to:
x-+0 sin 2x

(l) o

(3) 2

Lim (sec 0 - tan 0) = ?

e-+ I
2

(1) 0

(3) -l

(2) I
(4) 3

(2)

(4)

24.- lf f (x) - x sin x, then

(l) 0

(2) |
(3) -l

I

2

'25. Derivative of e'2 is :

2' (l) e'

(2) 2x

2
(3) 2.e'

1
x

(4) 2x'

I
oo

,'(l) " '

UG-EE-Ju ne, 20241 (statistics-4 YT.XSET-Y)/(A) P. T. O.
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26. A function /(x) is not continuous at x = 1 if :

(1) Lim f (x\ * /0)x->

(2) Lim f (x):/(l)
.x+l

(3) /t(r) * o

(4) None of these

Ix+]r
22. If /(r) = I 4

[rx-s

; r<3
; x = 3 is continuous at x = 3, then the value of l, is :

; x>3

(2) -2
(4) 0

(1) I
(3) -1

28. If / and g be two real functions continuous at a real number 'C', then which one of ttre
following is not true ?

(1) f + S is continuous at x= c

(2) f-g is continuous at x = c
-(3) f.g is continuous at x = c

f(4) I is continuous at -x = c, if g(0) * 0
I

29. If x- ) = rL then

(l) 0

(3) 2

30.' tf x = a(t - sin l) and

(l) sec r

(3) tan I
2

(2\ l
(4) 3

-y = d(l - cos r) t.1r"n 4 ='
dx

(2) cosec r

(a) cotl,2

dyo
dx

I
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31. If x = t2 and

(1) *

(3) t

y=f,thenff=t

4n

l0n

(2) (2,1)

(4) (3,2)

ttren /(x) = l

(2)

(4)

2
-" ls:
3'

(1) (1,2)

(3) (2. 3)

34. If /'(-x) = r' +5and /(0) = -1,

(l) lr'*5x-l
3

Q\ !r'*5x+l
3

(3) x3 +5x+ 1

(4) x3 +5x-l
2

35. The value or J {rr3 + qx+ r)dx' is :

-2

(1) r

(2) 2r

(3) 3r

(4) 4r

UG-EE-Ju ne, 20Al (Statistics-4 YT.XSET'Yy(A)
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g2. The rate of change of the area of a circle with respect to its radius 'y' where r = 3 cm'

ts:

(r) 2n

(3) 6n

33. The point, at which the tangent to the curve y - Jirl - lhas i1" slope
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A
f sin-{+cosx
| ----__ dx =,!' Vl+sin2x
(l) sin -r + c

(3) cos -r + c

Area bounded by the curve
(1) Iog 4 sq. unir

(3) (log 4 + l) sq. unit

The general solutiorr of x2 ff= O ,, .

(1) -y=-6+c

x+c
2x +c

y = logx, x-axis and the ordinates x =1, x= 2 
.is 

:' (Z) (log 4 - l) sq. unir
(4) (tog 4_Z)sq.unit

(2)

(4)

x
6

/ =-+c
x
l2

) =-*c
x

Y=x+c

39. The order and degyee of

are :

(l) (4,4)

(3) (1, t)

40. The nraxirnurn value of :

p=x*3),

Such that :

. 2x+ y<2O

x+Zy<20

x)0,;'>0,is:
(r) l0
(3) 30

differential equation 
# 

-* * s* - B*+ 4y - 0

(2)

(3)

(4)

(2) (4,1)

(4) (1,4)

(2) oo

(4) 2s
UG-EE-Ju ne, 202tt (Staristics-4 yr.)(SET-yy(A)
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4l.Whichofthefollowingcannotbetheprobabilityofoccurrenceofanevent?

2
(1) ;J

3(2\ -)
(3) ;
(4) I

42.Inanexperimentofrollingafairdieandunbiasedcoin,thesampleSpacelS:

(1) {H1,H2,H3,H4' H5' H6}

(2) {T1, T2,:t3,T4'T-5'T6}

(3) {H1, H2,H3'T4' T5' T6}

(4) {H1, H2,H3'H4' H5' H6', Tl', Tz',T3',T4', T5', T6}

43' If P(A) =o'37' P(B) =O'42'P(A n B) = 0'09' then P(A u B) is :

(1) 0.7 (2) o'8

(4) 0.7s
(3) 0'68

M. kobability of occurrence of an impossible event is :

(1) 1 Q)2

(3) o (4) o's

45.Afamilyhastwochildren.Whatistheprobabilitythatboththechildrenareboys,
given that at least one of them is a boy ?

4
-)

( l)
4

1(2) 
.

4

1(3) :
/.

1
(4) ;

J

UG-EE-Jun e, 20At (Statistics'4 Yr'XSET-Y)/(A)
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46. Given that

(r) 1
6

)
(3) ;

47. If sP, 
=2.

(1) t

(3) 3

upr-r, 
then value of 'y' is :

P(A) = !, ,:trl= 1 und p(.4 u q =#.,then p(B/A) is :

Q)1

@;

(2) 2

(4) 4

48' In how many ways can 5 men and' 4 women be seated in a row so that the women
occupy the even places ?

(l) 2880

(2) 2860

(3) 2800

(4) 2820

49. The value of ,pn_, is :

(1) n !

(3) 2n !

(2) n

(4) 2n

50. The number of squares that can be formed on a Chessboard :

(1) 224

(2) 204

(3) 160

$) 0q

UG-EE-Ju ne, 2024t (Statistics-4 yr.XSET_yy(A)
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51. The number of ways l0 digits numbers can be written using the digis I and 2 :

52. In an experiment of tossing three coins at a time, the probability of getting 2 heads and

(1) l0c2

(3) t0ct +9c2

one tail is :

(r) *
(3) 

81.

(2) 10 !

(4) 2to

Q):

$):

(2) A -B
(4) P(B) = p14;

(2) P(A)- P(B)

(4) P(AnB)

53. If A and B are events such that P(A I B) = P(B / A), then :

(1) B =A but A* B

(3) AnB=0

(1) P(A't+ P(B)

(3) P(Av B)

54. If A and B are two independent events, then the probability of occurrence of at least

cine of A and B is given by :

55. If A and B areindependent events such that P(A) =1 *U P(B) = |, tn", P(A n B)

is:
j(l) 

2s

Q\I
5

j

l0

(4) ?
5

UG-EE-Ju ne, 20?Al (Statistics-4 YT.XSET-Y)/(A) P. T. O.
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56. In context to the Bernoulli trials, which one of the following is not true ?

(1) There should be a finite number of trials

(2) The trials should be independent

(3) Each trial has more than two outcomes

(4) The probability of success remains the same in each trial

57. Probability can take values :

(l) 0to2

(3) * tol
(2)

(4)

-Zto2

-ltol

values of 'n' and 'p', the probability of x58. In case of binomial distribution, for given
successes P(x =x) is given by :

(1) 'c" p'qn-'

(2) 'c, p'qn-'

(3) p'.qn''

(4) nr* p' qn

59. If a random variable x follows binomial distribution with 'n' number of trials and ,p,

probability of success, then mean of x is :

(2) n(t - p)

(4) np

variance of a binomial distribution are g and 4 respectively, then

(2)

(4)

(1) p

(3) npq

60. The mean and

P(x= l) is :

(r) +
2*

(3) +
2''

I

*
I

F
UG-EE-Ju ne, 2OAl (Statisttcs-4 yr.)(SET-y)/(A)
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61. The primary data is gathered through :

(l) Survey (2) Books

(3) Newspaper (4) Internet

Which of the following is a measure of central tendency ?

(1) Mean deviation

(2) Mean

(3) Quatile deviation

(4) Standard deviation

Pie chart represents the components of a factor by :

(l) Angles

(2) Percentages

(3) Sectors

(4) None of these

What is the main purpose of statistics ?

(l) To collect data

(?) To analyse data

(3) To interpret data

(4) All of these

65. Which of the following is an example of qualitative data ?

( l) Height

(2) Weight

(3) Age

(4) Gender

UG-EE-June, 20Ml (Statistics-4 Yr.)(SET-Y)/(A)
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66. Which of the following is a measure of dispersion ?

( l) Variance

(2) Median

(3) Mode

(4) Mean

67. Which type of dara is best represented by a histogram ?
(l) Categorical

(2) Discrere

. (3) Continuous -

(4) Nominal

68' 
::;r"*t'*t 

value 5 is subtracted from each observarion of a ser, then the mean of the

(l) Increased by 5

(2) Decreased by 5

- (3) Decreased by 25

(4) is not affecred

09. Geornetric mean of two numbers I t
-and-,is:

70. 
. 
The standard deviation of the following data is :

-1, 1, _ 3,4, _5, _6, _7

(r) 1
l0

(3) to

Q) -z
(3) z

(D J_
t00

(4) 100

(2) 4

(4) -+

I

UG-EE-Jun e, 2Lbt(Statistics-4 yn)(SET_yy(A)
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71. The mean of 5 observations l, 2,6, x and y is 4.2, then x + y is :

(1) 4

(3) ls

(1) 0e

(3) 08

(2) 8

(4) t2

72. Mean deviation for'n'observatio[s r1,r2,-...,x, from their mean T is :

I n _2
(t) :I (x, -xf

fl i=l

ln
(2) -I1X,-x I

n i=t

n

(3) z 6t-v)'
i=l

n

(4) | tx,-7t
i=l

73. Mean of first 'zr' natural number is :

(l)L
2

rgl n*l
2

Q) !9P

$)+
74. The standard deviation of l0 observations is 09. If 2 is subtracted from

observation, then the new standard deviation is :

75. ' Mean deviation from the median for the following data is :

3,9,6.8.4. 12. 19,21

(L) 2

(3) 4

(2) 1l

(4) 07

(2) 3

(4) s

UG-EE-June, 2OAl (Statistics-4 YT.XSET-Y)/(A) P. T. O.
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76. What is the harmonic mean of 5 and 2 ?

(l) ?9
7

(3) l!
7

The sum of deviations about mean is :

(1) Largest

(2) Smallest

(3) Positive

(4) Zero

(2)

(4)

30

7

40

7

The relationship behveen arithmetic mean (A. M.), geometric mean (G. Irrt.y and harmonicmean (H.M.) can be expressed as :

(l) A.M. > c. M. > H. M.

(2) A.M.=G.M.-H.M.

(3) G.M.>H.M.>A.M.

(4) A.M.<G.M.<H.M.

The range is calculated as :

(l) The sum of all data values

(2) The product of all dara values

(3) The square of the rnean deviation

(4) The difference between the largest and smailesr data varues

Mode of the following data is :

3. 2, 5, 2, 3. 5, 6, 5, 6, 3, 2, 5, I

(r) 2

(3) s

78.

79.

80.

(2) 3

(4) 6
UG-EE-Ju ne, 20241 (Statistics-4 yr.)(SET-yy(A)



g1. A class of 30 boys and 15 girls is given a test in statistics. The average markis obtained

by boys is 15 and by girls is 6. The average of whole class is :

(r) l0.s

(z) 12

(3) 12.s

(4) 10

g2. The sum of square of deviations for l0 observations taken from mean is 250' The value

ofvariance is:

(r) 2s

(3) 40

(2) 30

(4) 4s

(2\ t6

(4) 1l

The variance of 6, 8, 10, 12,14 is :

(l) I
(2) t2

(3) 18

(4) 8

g4. The mean of 8 numbers is 15. A new number 74 is added. The mean of nine numbers

is:

(1) l8

(3) 12

85; The median of the series :

3. I 8, 7, 20. 11, 12,9, 17,22

(l) t I

(3) l0

(2) t2

(4) 8

UG-EF-June,?.OAl(statistics-4Yr.XSET-Yy(A) P. T. O.
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86. Find out the missing number of the series :

2,6, 14,26,42,

(l) s2

(3) 72

Find out the missing letters of the series :

.x ........ x_\yyx...... rywxxxx

(l) ax (z) y,y

(3) y, x (4) x, y

In a code language if 'TRAINS'is coded as 'RTIASN" how 'pISToL'will be coded in
the same language ?

Q) az

(4) oo

87.

88.

(l) TPTSLO

(3) SIPTLO

6-3+8x3+4=?

(l) 4

(3) l0

IPSTLO

IPTISO

(2) 30 metres

(4) l0 metres

(2)

(4)

89' A person started walking towards North. After walking 30 metres, he turned towards
left and walked 40 metres- He then turned left and walked 30 metres. He again turned
left and walked 50 metres. How far is he from his original position ?

(l) 40 metres

(3) 20 merres

90. If + meanS X, - means +, x means + and + means _, then :

(2)

(4)

5

t2

UG-EE-Ju ne, 20?Al (statistics-4 yr.)(SET-y)/(A)
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91. 'Page' is related to 'Book' as 'Leaf is related to :

(l) Root

(2) Tree

(3) Fruit

(4) Forest

92. Newspaper: Press : : Cloth : ?

(l) Fibre

(3) Tailor

(2)

(4)

93. In 10 years, 'A' will be twice as old as 'B' was 10 yeirs ago. tf at present 'A' is 9 yeirrs

older than 'B', the present age of 'B' is :

(l) l9years

(2) 29 years

(3) 39 years

(4) 59 years

Pointing towards a person, a man said to a woman "His mother is the only daughter of
your father"- How is woman related to that person ?

Textile

Mill

(2) Mother

(4) Wife

(l) Daughter

(3) Sister

95. Mirror image of [--a I is :

(1)l=l

Eaa
(2)

(3)

(4)

UG-EE-June, 20Al (Statistics-4 Yr.)(SET-Y/(A) P. T. O.



length of the bridge is :

(l) lkm

. (3) 2km

912 18 .2199. The HCF of r, -r,- and - is .

l0 25 25 40

(l) :
5

(3) 3

1400

Find the mi

A
3

(r) 37

(3) 47

20

96' Calculate the simple interest of Rs. 72Oo at nlqoper annum for 9 months :
4

(l) Rs.688.50

(2) Rs.670.s0

(3) Rs.700.1

(4) Rs.690

97- A man buys 25 chairs for Rs. 375 and sells them at profir equal to the selling price of 5
chaks. What is the selling price of one chair ?

(1) Rs. 14.50

(2) Rs. 15.20

(3) Rs. 17.20

(4) Rs. 18.7s

98. A man riding on a bicycle at a speed of 15 km& crosses a bridge in 5 minute. The

(2) I 
ikm

@) 2;v.*

(2)

(4')

(2) 4t
(4) 18

252

5

52

140

100.

UG-EE-June, 20241 (Statistics-4 Yr.)(SET-Y)/(A)
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24 hours of uploading the same on thl"univliritv win"it!. rne complaint be.sent by the students to

the Gontroiler of Examinations by hanj;;i[il;i, "*iii. 
Thereatter, no complaint in any case, will be

considered.

5. The candidate must notdo any rough work or writing in the oMR Answer-sheet. Rough work, it any,

may be done in tti" qr""ti* Looklet-itself. Answers musl notbe ticked in the question booklet'

6. There witl be no negative marking. Each correct answer wtll be awarded one tull mark'

Cuttlng, eraslng, overurrltlng and iore than one answer tn OttR Answer-Sheet wlll be treated

as inconect answer.

?. Use only Black or Blue Ball Point Pen of good quality in the oMR Answer-sheet'

g. Before answering the questions, the candidates shoutd ensure that they have been supplied correct

and complete booktet. Complaints,-if ii\,- rrgirAing mispinting eti' will not be entertained 30

minutes after starting of the examination'
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1. A class of 30 boys and 15 girls is given a test in statistics. The average marks obtained

by boys is 15 and by girls is 6. The average of whole class is :

(1) l0.s

(2) t2

(3) 12.5

(4) l0

The sum of square of deviations for l0 observations taken from mean is 250. The value

of variance is : o'-.

(r) 2s

(3) 40

3. The variance of6, 8, 10, 12, 14is:

(l) I
(2) t2

- (3) l8

(4) 8

(2) 30

(4) 45

4. The mean of 8 numbers is 15. A new number 24 is added. The mean of nine numbers

is:

(1) r8

(3) r2

5. The median of the series :

3, I 8, 7, 24, I l, 12,9, 17, 22

(1) l r

(3) l0

UG-EE-June, 20241 (Statistics-4 Yr.)(SET-Y)/(B)
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(4) il

(2) t2

(4) 8

P. T. O.



Find out the rnissing number of the series :

2,6, 14,26,42,

(1) sz

(3) tz

Find out the missing letters of the series :

x ........w)yx ry\yxxxrc

(l) x, x

(3) y, x

(2) 62

(4) 60

8' In a code language if 'TRAINs'is coded as ,RTIASN,, 
how ipISToL,wil be coded inthe same language ?

(2) y, y

(4) x, y

(2) TPSTLO

(4) TPTLSO

(2) 30 merres

(4) l0 metres

(I) IPTSLO

(3) STPTLO

A person started walking towards North. After walking 30 metres, he furned towardsleft and walked 40 metres' He then turned left and walked 30 metres. He again tumedleft and warked 50 metres. How far is he from his originar position ?

(l) 40 merres

(3) 20 merres

10. If + meanS X, _ means +, x means + and + means _, t}ten :

6-3+8x3+4=?

(t) 4

(3) to

(2)

(4)

5

l2

I

UG-BE-Jun e, 2024t (Statistics-4 yn)(SET_y)/(B)
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11. The mean of 5 observations 1,2,6,x and y is 4'7, then x + y is :

(l) 4

(3) ls

12. Mean deviation for'n'observatio[S {, j[2,....,J,, from their mean 7 is :

(2) 8

(4) 12

I n 
-2(l) :I (x, -x)

fl i=l

lno\ :I tx,-xlL/fr i=t

(3) 2 tx, -V\'
i=l

n_
(4) | tx,-xt

i=l

13. Mean of first 'n' nahrral number is :

nfl)
2

(3) n+1
2

(2) *P
(4) +

14. The standard deviation of l0 observations is 09. If 2 is subtracted from each

observation, then the new standard deviation is :

(l) 0e

(3) 08

3,9,6,8,4,12,19,21

(r) 2

(3) 4

(2) 3

(4) s

(2) 1l

(4) 07

15. 
.Mean 

deviation frorn the median for the following data is :

UG-EE-Ju ne, 20?Al (Statistics-4 YT.XSET'Yy(B) P. T. O.
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16. What is the harmonic mean of 5 and Z ?

(1) 20

7

(3) !!
7

The sum of deviations about mean is :

(l) Largest

(2) Smallest

(3) Positive

(4) Zaro

(2)

(4)

30

7

40

7

17.

.

I

I

I

I

I

I

I

I

I

I

I

I

I

I

18- The relationstrip betrueen arithmetic mean (A. M.), geometic mean (G. M.) and harmonic
mean (H. M.) can be expressed as :

(l) A.M. > G. M. > H. M.

(2) A.M.=G.M.-H.M.

- 
(3) G.M.>H.M.>A.M.

(4) e.M.<c.M.<H.M.

19. The range is calculated as :

(1) The sum of all data values

(2) The product of all data values

(3) The squaro of the mean deviation

(4) The difference between the largest and smallest data values

20.' Mode of the following data is :

3,2, 5,2, 3, 5i,,6, 5, 6, 3,2,5, I
(r) 2

(3) s

(2)

(4)

3

6

UG-EE-June, 20Al (Statistics-4 Yr.)(SET-yy(B)
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21. 'Page'is related to 'Book' as'Leaf is related to :

(1) Root

(2) Tree

(3) Fruit

(4) Forest

22. Newspaper: Press : : Cloth : ?

( l) Fibre

(3) Tailor

(2)

(4)

Textile

Mill

23- kl 10 years, 'A' r*'ilI be trrice as old as 'B' was l0 years ago.'If at present 'A' is 9 years

older than 'B', the present age of 'B' is :

(l) l9 years

(2) 29 years

(3) 39 years

(4) 59 years

24- Pointing towards a person, a man said to a woman "His mother is the only daughter of
your father". How is woman related to that person ?

(l) Daughter

(3) Sister

(2) Mother

(4) Wife

(2)

(3)

(4)

UG-EE-June, 20Al (Statistics-4 YT.XSET-Y)/(B)
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Calculate the simple interesr of Rs. Z2r ?
N at lla%oper annum for 9 months :

(1) Rs.688.50

(2) Rs.670.50

(3) Rs.700.1

(4) Rs.690

27' A man buys 25 chairs for Rs' 375 and sells them at profit equal to the selling price of 5chairs. What is the selling price of one chair ?
(l) Rs. 14.50

(2) Rs. ls.zO

(3) Rs. 17.20

(4) Rs. 18.75

28' A man riding on a bicycle at a speed of 15 km./h crosses a bridge in 5 minute. Thelength of the bridge is :

(l) I km

(3) 2 km

TheHCFor2.! 18 .21
lo 2i'25*o -rs:

(l) 1
5

3(J)
1400

(2) 'i*
@ 2;k^

Q)T

@):z
t40

Find the

sAz
,/13 \,/\

3

(r) 37

(3) 47

missing number:

(2) 4t
(4) 18

UG-EE-Ju ne, 20At (Statistics_4 yr.XSET-yy(B)
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31. How many subsets can be formed from the following set:

1r,2,3......n|
(r) n

(2) n2

(3) 2n

(4) 2"

32. If A= ll,2,3I,B ={3, 4},C =14,5,6}, then Av(B nC)is:
(1) {3}
(2) { | ,2,3,4}
(3) { 1, 2,3,5} -

(4) { 1, 2,3,' 4, 5,6}

33. In rule method, the null set is represented by :

(l) t )

(2) O

(3) {x:x=xl
(4\ lx: x* x\

34. lrtU = {1,2,3,..... l0}, A= {1,2,51,B = {6,7},then AnB'is (WhereA'&B'
represent compliment of A and B respectively) :

(l) A
(2) B',

(3) A'

(4) B

35. In a group of 70 people, 37 like coffee , 52 like tea and each person likes at least one of
.the two drives. How many like both coffee and tea ?

(r) l7
(2) l8
(3) l9
(4) 20

UG-EE-Jun e, 2L%l(Statistics-4 YT.XSET-Y/(B) P. T. O.
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36. The inequaliry 3 < 3 is true, when x belongs to :

f.t \ ' (ta
(,) L;,."J (2) 

[-"",;]
/.t \

(3) I :, "" lu (--, 0) (4) None of these
\3 )

37. lf A - t1,2,41, then the identity relation on A is :

(r) {(r, r)}
(2) t(1, l) (1,2)I -

(3) {(2;2),(1,4)}

(4) {(1, t), (2,2), (4,4)\

38. Let A = {x, l, z} and B = {1, 2}, then the number of relations from A into B are :

(1) 25

(2) 26

- (3) 23

(4) 22

39. The radian measure corresponding to -47"30' is :

6l -l1r ot En
72 72

(3) -Pn (4\ 'e n72 72

40. The vatue of sin l,E) t, ,(6,/

Q\1(r) -f 
2

(3) -+ (4) Ji
\J'I 

J' 2

UG-EE-June, 20Al (Statistics-4 YT.XSET-Yy(B)
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41. The number of ways I 0 digits numbers can be written using the digits I and 2,:

42. In an experiment of tossing three coins at a time, the probability of getting 2 heads and

one tail is :

(r) *
(3) *

43. If A and B are events such that P(A I B) = P(B / A) , then :

(1) l0c2

(3) l0cr q9cz

(2) 10 !

(4) 2to

(2) I
3

,0,, ;

(2) A=B

(4) P(81= p111

(2) P(A)- P(B)

(4) P(AIB)

(1) B =A but A+ B

(3) AnB=0

(l) P(A)+ P(B)

(3) P(Aw B)

4. If A and B are two independent events, then the probability of occulrence of at least

one of A and B is given bY :

45. If A and B areindependent events such that P(A) = 1 
*U P(B) =1. th"t P(A a B)

is:

(l) 3
"25

(2) +)
?

r0

@\?
5

UG-EE-June, 20Al (Statistics-4 YT.XSET-Y)/(B) P. T. O.
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46. In context to the Bernoulli trials, which one of the following is not true ?.

( I ) There should be a finite number of trials

(2) The trials should be independenr

(3) Each trial has more than two outcomes

(4) The probability of success remains the same in each trial

47. Probability can take values :

(l) 0to2

(3) -"" to I

/t8. In case'of binomia, Orr*Oodon,
successes P(x = x) is given by :

(l) *", p' qn-'

(2) "c, p'qo-'

(3) p'.q"''

- (4) nr, p' qn

49.

(2) -2to2
(4) -l to I

for given values of 'n' and 'p', the probability of x

(2) n(t - p)

(4) np

of a binomial distribution are 8 and 4 respectively, then

(2)

(4)

If a random variable x follows binomial distribution with 'n' number of trials and 'p'

probability of success, then mean of -r is :

(t) p

(3) npq

50. The mean and variance
P(x= l) is :

(1) I
2'*

(3) +
2'"

I

7
I

F

UG-EE-Ju ne, 20Ml (Statistics-4 YT.XSET-Y)/(B)
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51. The primary data is gathered through :

(l) Survey

(3) Newspaper

(2)

(4)

Books

Internet

52. Which of the following is a measure of central tendency ?

(l) Mean deviation

(2) Mean

(3) Quartile deviation

(4) Standard deviation '

53. Pie chart represents the components of a factor by :

(l) Angles

(2) Percentages

(3) Sectors

(4) None of these

54. What is the main purpose of statistics ?

(l) To collect data

(2) To analyse data

(3) To interpret dara

(4) All of these

55' which of the following is an example of qualitative data ?

(l) Height

(2) Weight

(3) Age

(4) Gender

UG-EE Jun e, 20AI (Statistics-4 YT.XSET-Y)/(B) P. T. O.
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B
56. Which of the following is a measure of dispersion ?

(l) Variance

(2) Median

(3) Mode

(4) Mean

57. Which tlpe of data is best represented by a hisrogram ?

. (l) Categorical

(2) Discrete

(3) Continuoo. 
'

(4) Nominal

58' If a constant value 5 is subtracted from each observation of a set, then the mean of theset is :

(l) Increased by 5

(2) Decreased by 5

(3) Decreased by 25

(4) is not affected

59. Geometric mean of two numbers a una
t6

4_.ts:
25'

(l)

(3)

(1) -z
(3) z

I
t0

l0

@J-
t00

(4) 100

'60. The standard deviation of the following data is :

-7, -2, _ 3, 4, _5, _6, _ 7

(2) 4

(4) -+
UG-EE-Ju ne, 2O24t (Statistics-4 yr.)(SET-yy(B)
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61. For any positive integer,,,Lg# .
(l) o

(2) I

(3) nan

(4) nan-l

62. Liryry*is equat to:x-rO sin 2x

(l) 0

(3) 2

63. Lim (sec 0 - tan 0) = ?
e-+ I

2

(1) 0

(3) -l

64. H f (x)=.r sin.r, rhen f ,(I) i, ," \2)

(2) l
(4) 3

(2) |
(4) *

(l) 0

(2) 1

(3) -t
.t

(4) '
2

65. Derivative of ,,2 is :

2(l) e'

(2) 2x

2(3) 2.e'
,,

r
(4) 2x"

UG-EE-Ju ne, 20241 (statistics-4 yr.XSET_y)(B)
P. T. O.

B



748

66. A function /(.r) is not continuous at x = I if :

(l) LinT f e)* f {r)-r-+

(2) Lim. f (x): f (t)
-x-+l

(3) /,(r) + o

(4) None of these

; x<3
; x = 3 is continuous at x = 3, then the value of I is :

; x>3

r
lx+1,

67. If /(x) = { 4t-
[3x-5

(1) I
(3) -l

(2) -2
(4) 0

{f/and g be two real functions continuous at a real number 'C', fhen which one of thefollowing is not true ?

(l) f + g iscontinuousat x=c
(2) f-g is continuous at x = c

(3) f.g is continuous at x = c

fg) !- is continuous at _x = c, if g(0) * 0o6

69. If x- y = n, then

(l) 0

(3) 2

dy

dx

70. If x = a(/ - sin r) and I = a{t- cos f) h"n ff= t

(2) |
(4) t

(2) cosec r

@ cot;

(l) sec I

(3) tan 1
2

UG-EE-June, 2O241 (Statistics-4 yr.)(SET-yy(B)
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71, The additive inverse of (2+3i)2 is :

(l) - 5+tZi
(2) -9+l2i
(3) 5 - 12,

(4) e -tzi
72. Multiplicarive inverse of 4 + 7f is :

(l) (_4_7i)

(2) -4+ti
(3) -!* l-,

65 65

(4) !-L,
65 6s

73. How many terms are there in A. p. 20,22,24,26,.. .. , 100 ?

(1) 40

(3) 42

74. The sum of the first 15 tenns of the A. p. 5, 10, 15, 20, ..... is :

(l) 400

(2) 42s

(3) 600

(4) 52s

7s.rr[' 0llo lllz 1l'L' -oJ*L-, u)=L, - rl'thenvalueoraand bare:

(t) t,_2
(2) -1,2
(3) -t, -z
(4) t,2

UG-EE-Ju ne, 20241 (Statistics-4 yr.)(SET-y)/(B)
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26. rnverse matrix or 
[_'- 

-j] ,, ,

r) -!l' 3-l ,r, -Ll' +l
814 2) 813 2)

(3) Ll' rl tfz +f

sL4 ,) (4) aL, ,)

B

77- The minor of -3 in the determinant

(l) 30

(3) 28

z -3 rl
4 o ,1,,,

-t 67
(2) 33

(4) 32

78. Let A be a square matrix of order 3 x 3, then lKAl is :

(l) 3K tAl

(2) K rAr

(3) K2 tA I

. (4) K'tAt

79. Matrices A and B will be inverse of each other only if :

(1) AB = BA

(2) AB=BA=0
(3) AB=BA=I
(4) AB=I,BA=0

80. Which of the following is not a property of inverse of a matrix ?

(l) (A-r;-t = o

(2) (Ar)-t -(A-t',f
(3) {en;t - A-t B-l

(4) Adj(A-t) - (Adj A)-l

UG-EE-June, 20Al (Statistics-4 YT.XSET-Y)/(B)
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81. Which of the following can not be the probability of occurrence of an event ?

)
3

)
(3) ;
(4) I

In an experiment of rolling a fair die and unbiased coin, the sample space is :

(l) |HI,H2,H3,H4,H5, H6)

(2) {T1, T2,T3,r+, rs,ro 1

(3) {H1, H2, H3, T4, T5, T6}

(4) {Hl, H2, H3, H4, H5, H6, Tl, T2,T3, T4, T5, T6}

It P(A) = 0.37 , P(B) = 0.42, P(A a B) = 0.09, then p(l u B) is :

82.

83.

85.

a

t
I

I

(l) o.z

(3) 0.68

(l ) I

(3) 0

(2) 0.8

(4) 0.7s

U. Probability of occurrence of an impossible event is :

(2) 2
(4) 0.s

A family has two children. what is the probability trhat both the
given that at least one of thern is a boy ?

?(l):
4

1

4

1

(3) I

2

I

J

children are boys,

UG-EE-June, 20Al (Statistics-4 yr.)(SET-yy(B)
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86' Given that p(A) '!, ptBl= 1 urd p(AwB) = *. then p(B/A) is :34n'
I(r) + e)166
)

(3) : @,) 19 \'/ 
2

87. If ? =2. 6p,-1, 
then value of 'r' is :

(l) I Q\2
(3)3 @)4

88' In'how many ,ur. .* 5 men and 4 women be seated in a row so that the women
occupy the even places ?

(l) 2880

(2) 2860

(3) 2800

(4) 2820

89. The value of "p,_, is :

(r) nl e) n

(3) 2n ! g) 2n

90. The number of squares that can be formed on a chessboard :

(1) 224

(2) 204

(3) 160

(4) ot

UG-EE-Ju ne, 20?Al (Statistics-4 yr.XSET-y)/(B)
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91. If x= t2 and y=f ,th"nd'! =?
dxz

?

4t

(3) t

(2)

(4)

^/;

3

2^lt

The rate of change of the area of a circle with respect to its radius 'r, where r = 3 cmo
is:

(t) 2n e) an

(3) 0n @) 0n

93. The point, at which rhe tangenr ro rhe curve y = J4x i_ I has its slope ], i, ,
3'

94. If f '(x) = *2 +5and /(0) = -1, rhen f (x) = ?
I(l) lr'+5x-l
3

(2) lr' * 5x+ I
3

(3) x3 +5x+ I

(4) x3 +5x-l

95. Thevalue or I br, +qx+r)dr. is:
-2

(l) r
(2) 2r

(3) 3r

(4) 4r

UG-EE-June,20?At(Statistics-4 yr.XSET-yy(B) 
p. T. O.
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97.

I sinr+cos-x 
dx=?' Jl*sin2x

(l) sinx+c (2) x+c
(3) cosx+c (4) x2+c

Area bounded by the curve y = logx, x-axis and thc ordinates x=1, x=2
(1) log 4 sq. unir (2) (log 4 - l) sq. unit
(3) (log 4 + l) sq. unit (4) (log 4 -2) sq. unit

98. The general solution of x24 = 6 i, ,

-dx
(1) y=-6*,

x

(z) ),- 9+,
x

(3) ),-12 +,
x

(4) )': xt c

99. The order and degree

are :

(1) (4,4)

(3) (1, l)

100. The maximum value of :

p = x*3!
Such that :

2x* y<20
x+2y 520

I>0,))0,is:
(l) l0
(3) 30

differential equarion 
# ^* 

* t* -B*+ 4y - 0

(2) (4,1)

(4) (1,4)

(2)

(4)

60

25
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1.
nn

For any positive integer n, Lim' - o ir;x)a x-a
(1) 0
(2) |

(3) na'

(4) na"-l

sin4-r .Lim ---- '-- is equal to:
x+0 sin 2-x

(1) 0

(3) 2
(2) |
(4) 3

(2) l
(4) *

Lim (sec 0 - tan 0) = ?

e-+ I
2

(1) 0

(3) -l

4.- If f (x) = x sin x, then

(l) 0

(2) I
(3) -l

I(4) ,

5. Derivative of e'2 is :

2(l) e'
(2) 2x

(3) 2.e'2
1x-

(4) 2x*

,'(l) "'

UG-EE-Ju ne, 20Al (Statistics-4 YT.XSET-Y)(C) P. T. O.
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A function /(x) is not continuous at x = I if :

(r) *3f @* f (r)

(2) Lim f(x)=f(r)
-x-)l

(3) ,f'(r) * o

(4) None of these

lx+?,,
7. If /(.r) = { 4

[r.' - s

; x<3
; x = 3 is continuous at x = 3, then the value of l" is :

; 
-x>3

(2) -2
(4) 0

(1) I
(3) -1

If/and g be two real functions continuous at a real number 'C', then which one of the
following is not true ?

(1) f + S is continuous at r= c
(2) f-g is continuous at x = c

(3) f.g is continuous at x = c

f
(4) { is continuous at x = c, if g(0) * 0

o6

9. If r-y=rL then
dy6
dx

(r)0 Q)t
(3) 2 (4) 3

10- If x=a(r-sinl) and ! = a(l-cosr) th"n 4=,
dx

(1) sec t

(3) tan 1
2

(2) cosec r

$) corl

UG-EE-June, 20241 (Statistics-4 YT.XSET-Y)/(C)
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11. The nurnber of ways l0 digits numbers can be written using the digits I and 2 :

(1) 10c2

(3) l0cr 19cz

12.Inanexperimentoftossingthreecoinsatatime,theprobabilityofgetting2headsand
one tail is :

(r) *

(3) i
13. If A and B are events such that P(A t B) = P(B / A) , then :

(2) 10 !

(4) 2to

(1) B =A but A+ B

(3) AnB=0

14. If A and B are two independent events, then the probability of occuffence of at least

one of A and B is given bY :

(l)- P(A) + P(B)

(3) P(A u B)

15. If A and B are independent events such that p(A) = I *u p(B) = |, ,n"r, P(A n B)

Q)T
3

(4) i

(2) A=B

(4) P(B) = p1,11

(2) P(A)- P(B)

(4) P(A n B)

IS:

j

25

A
(2) 

=.5
3(3) -:-
10

2(4) 
=5

UG-EE-Ju ne, 202At (Statistics'4 Yr'XSET-Yy(C) P. T. O.
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16. In context to the Bernoulli trials, which one of the following is not true ?

( I ) There should be a finite number of trials

(2) The trials should be independent

(3) Each trial has more than two outcomes

(4) The probability of success remains the same in each trial

',7. Probability can take values :

In case of binomial distribution,
successes P(x = x) is given by :

(l) '"np'qn-'
(2) n"* p'q'-'

-(3) p'.qn-'

(4) nr* p' q'

19. If a random variable x follows binomial

probability of supcess, then mean of x is :

(r) p

(3) npq

(2) -Zto2

(4) *l to I

for given values of 'n' and 'p', the probability of x

distribution with 'n' number of trials and 'p'

(2) n(t -p)
(4) np

distribution are 8 and 4 respectively, then

(2)

(4)

(l) 0to2

(3) * to1

18.

20. The mean and variance of a binomial
' P(x=1) is:

I(l) .
2'*

I(3) -z','

I
f
I

26

UG-EE-June, 20241 (Statistics-4 YT.XSET-Y)/(C)
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2'1. A class of 30 boys and 15 girts is given a test in statistics. The average marks obtained

byboysis15andbygirlsis6.Theaverageofwholeclassis

(1) 10.5

(2) 12

(3) l2.s

(4) 10

22. The sum of square of devialions for l0 observations taken from mean is 250' The value

ofvariance is :

(r) 2s

(3) 40

(2) 30

(4) 4s

23. The variance of 6, 8, 10, 12,14 is 
"

(1) I

(2) 
.r2

(3) 18

(4) 8

24. The mean of 8 numbers is 15. A new numbet 24 is added' The mean of nine numbers

is:

(1) 18

(3) 12

25. T[re median of the series :

3. I 8, 7,20, I l, 12,9, 17 ,22

(l) 1l

(3) 10

(2) 16

(4) 11

(2) 12

.(4)8

UG-EE-Jun e, 20At (Statistics-4 Yr'XSET'Y)/(C) P. T. O.
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26. Find out the missing number of the series :

?,6,14,?,6,42,...

(L) s2

(3) 72

27. Find out the missing letters of the series :

x ........ ffi),yx xy!),xD$

(l) x, x

(3) y, x

(r) IPTSLO

(3) STPTLO

(l) 40 metres

(3) 20 metres

(l) 4

(3) l0

(2) 62

(4) 60

28. In a code language if 'TRAINS'is coded as'RTIASN', how'PISTOL'will be coded in

the same language ?

(2) y, y

(4) x, y

(2) IPSTLO

(4) TPTLSO

(2) 30 metres

(4) 10 metres

(2) s

(4) t2

29. A person started walking towards North. After walking 30 metres, he turned towards

left and walked 40 metres. He then turned left and walked 30 metres. He again turned

left and walked 50 metres. How far is he from his original position ?

3{r. If + means X, - means +, x means + and + means -, then :

6-3+8x3+4=?

UG-EE-June, 20Ml (Statistics-4 YT.XSET-Y)/(C)
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31. The mean of 5 observations 1,2,6,x and y is 4.2, then x + y is :

32. Mean deviation for'n' observationS JU1,r2,....,r, from theirmean 7 is:

I n _2(l) aI (x, -xf
fl ;=t

ln
(2) -I rxi-xt

n i=l

n

(3) z l.xt-v)'
i=l

n

(4) | rx, -7r
i=l

Mean of first'n'natural number is :

0;

(fl '+l
2

(l) 4

(3) rs

(r) 0e

(3) 08

i,9,6,B,4,lz,lg,zl

(r) 2

(3) 4

(2) 8

(4) t2

(2) 1l

(4) 07

(2) LqP

(4) n-l
2

34. The standard deviation of l0 observations is 09. If 2 is subtracted from each

observation, then the new standard deviation is :

35. Mean deviation frorn the median for the following data is :

(2) 3

' (4)s

UG-EE-June, 2OAl (Statistics-4 YT.XSET-Y/(C) P. T. O.
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36. What is the harmonic mean of 5 and 2 ?

(1) 29
7

(3) L9
7

The sum of deviations about mean is :

(1) Largest

(2) Smallest

(3) Positive

(4) Zero

The relationship between arithmetic mean (A. M.), geometric mean (G. M.; and harmonic
mean (H. M.) can be expressed as :

(1) A.M. > G. M. > H. M.

(2) A.M.=G.M.-H.M.

(3) G.M.>H.M.>A.M.

(4) A.M.<G.M.<H.M.

The range is calculated as :

(1) The sum of all data values

(2) The product of all dara values

(3) The square of the mean deviation

(4) The difference between the largest and smalrest data values

(2)

(4)

30

7

40

7

37.

38.

39.

40. Mode of the following data is :

3, 2, 5, 2, 3, 5,6, 5, 6, 3, 2, 5, I

(l) 2

(3) s

(2)

(4)

3

6

UG-EE-June, 20tu11 (Statistics-4 yr.)(SET-y)(C)
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41. The additive inverse of (2 + 3f)2 is :

(l) - 5+l2i
(2) -9+t2i
(3) s-t2i
(4) e-t2i

42. Muttiplicative inverse of 4 + 7r is :

(l) (4-7i)
(2) -4+7i

47(3)-'+ i65 65

A\ !-7 
'65 65

43. How many terms are there in A. P. 20,22,24,26,.... , 100 ?

(2) 4t

(4) 43

(l) 40

Q) 42

M. The sum of the first 15 terms of the A. P- 5, 10, 15,20, ....- is :

(1) 400

(2) 42s

(3) 600

(4) s2s

4s. rr[' o-l*[ ' 'l=['L3 -4) L-r b) l2
(1) l, -2
(2) -1,2
(3) -t, -2
(4) 1,2

'1. *"n value of a and b are:
-2l'

UG-EE-Ju ne, 20?Al (Statistics-4 YT.XSET-Y)/(C) P. T. O.
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46. Inverse matrix or [ 2 -'l ,* 
'L-4 2)

,, -*[x :)
-,*[1 :)

tlz :l__lt
sL+ z)

1lz :l
tLo zl

(1)

(3)

47- The minor of -3 in the determinant

2

4

-l

-3 I

0 5lis:
67

(2) 33

(4) 32

48. Let A be a square matrix of order 3 x 3, then lKAlis :

(l) 3K tAt

(2) K tAl

(3) K2 lA I

. (4) K3tAt

49. Matrices A and B will be inverse of each other only if :

(l) AB = BA

(2) AB=BA=0
(3) AB=BA=I
(4) AB=I,BA=0

50- which of the following is not a property of inverse of a matrix ?

(l) (A-t )-t = A

(2) (A')-' = (A-' )r

(3) (AD-t - A-t B-l

(4) Adj(A-t) = (Adj A)-l

UG-EE-Ju ne, 20241 (statistics-4 Yr.)(SET-Y)/( C)
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1,1

(2)

(4)

is:

0) 2n

(3) 6r

51. If x= i and )'=t3,then fr='
3(t) 
4,

(3) t

52. The rate of change of the area of a circle with respect to its radius 'y' where r = 3 cm'

Q) 4n

- (4) lOn

53. The point, at which the tangent to the curve y = Jiil- thas its slope ?' it 
'3

,fi

3

,fi

(1) (1,2)

(3) (2, 3)

54. lf /'(r) = x' +5 and /(0) = -1, then f (x) = 2

(l) !r'*5x-l
4
J

l.(2) :x'*5x+l
-{

(3) x3 +5x+1

(4) x3 +5x-l
2

55. The value or J (r" + qx+ r)dx' is :

-2

(l) r
(2) 2r

(3) 3r

(4) 4r

UG-EE-Ju ne, 20?Al (Statistics-4 Yr'XSET-Yy(C)
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55. f sin-r+cos-r -l:dx=?' Jl+sin2x
(1) sinxrc
(3) cosx+c

Area bounded by the curve

(1) log 4 sq. unit

(3) (log 4 + l) sq. unit

, (2) x+c
(4) x2 +c

y = logr, x-axis and the ordinates x =7, x = 2 is :

(2) (log 4 - l) sq. unit

(a) 0og 4-2) sq. unit

The general solution of x24 = 6 i. ,-dx

(1) y=-6+.
x

(2) )'-9+'
x
t)(3) )'=I+c
x

(4) )'= x* c

59- The order and degsee of differential equarion 
# ^**g*-B*+4y=e

are :

(1) (4.4)

(3) (1, l)

60. The maximurn value of :

p=x*3),

Such that :

' 2x+ y <20

x+2y <2A

x)0,),)0,is:
(1) 10

(3) 30

57.

58.

(2) {4, t)
(4) (1,4)

(2) 60

(4) 2s

UG-EE-.Iune, 20241 (Statistics-4 YT.XSET-Y)/(C)
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61. How many subsets can be formed from the following set :

11,2,3......n\
(l) n

(2) nz

(3) 2n

(4) 2'

62. lf A = ll. 2, 3l1, B = {3, 4}, C = 14, 5,6}, then A v (B n C)is :

(l) {3}
(2) {1,2,3,41
(3) { 1, 2,3,51

(4) {1,2,3,4,5,61

63. In rule method, the null set is represented by :

(r) i )

(2) 0
(3) {x:x=x}
(4) {x:x*xl

il. LetU= {1,2,3,..... 10}, A = {1,2,51,B = {6,7},thenAnB'is (WhereA'& B'
represent compliment of A and B respectively) :

(l) A
(2) B'

(3) A',

(4) B

65. In a group of 70 people, 37 like coffee , 52 like tea and each person likes at least one of
. .the two drives. How many like both coffee and tea ?

(l) l7
(2) 18

(3) le
(4) 20

UG-EE-Jun e, ?.071 I (Statistics-4 YT.XSET-Y)/( C) P. T. O.
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The inequality ' < 3 is true, when r belongs to :

1C

(1) 
[?, 

*)

trr 
[J, "")' 

(*,0)

67 . If A = {1, 2, 4l , then the identity relation on A is :

(1) {(r, r)}

(2) t(1, 1) (1,2)l

(3) {(2, 2),{1,4)}

(4) {(1, l), (2,2), (4, 4)l

68. Let A = tr, y, z) and B = {1, 2}. then the number of relations from A into B are :

(1) 25

Q) 26

(3) 23

(4) 22

69. The radian measure corresponding to -47"30' is :

o, [-'",1]
.(4) None of these

rtl -lln
72

r3t -]2n
12

70. rhe value of sin [4] t, 
'\,61

f(t) _ 
2

{z) ffn
l9(4)
't2

(2)

(4)

I
z

6
2

I

.lz
(3) -

UG-EE-June, 20Al (Statistics-4 YT.XSET-Y)/(C)
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71. Which of the following can not be the probability of occurrence of an event ?

2fl)
3

?

)

(3) ;
(4) I

72. In an experiment of rolling a fair die and unbiased coin, the sample space is :

(l) {H1,H2,H3,H4,H5, H6}

(2) {Tl, T2, T3, T4.T5,T6}

(3) {H1, H2,H3, T4, T5' T6}

(4) {Hl, H2, H3, H4, H5, H6, T1, T2'T3,T4, T5, T6}

73- If P(A) =0-37, P(B) =0'42, P(A r-tB) = 0'09' then P(A u B) is :

74. Probability of occurrence of an impossible event is :

(1) 0.7

(3) 0.68

(1) I

(3) o

(2) 0.8

(4) 0.7s

(2) 2

(4) 0.s

75. A family has rwo children. what is the probability that both the children are boys'

given that at least one of them is a boy ?

1(l) 
;

.o\l
4

1(3) ,

(4) I
3

UG-EE-Ju ne, 20241 (Statistics-4 Yr')(SET'Y/(C) P. T. O.
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Giventhat P(A) =f,,rtn)=1 urd, P(AvB)= 
I I 

. then P(B/A) is :

t2

I(l) 
6

(3) ?
9

77. If ? =2. 6pr-t, then value of 'r'is :

(l) I

(3) 3

(2) 2

(4) 4

(2) n

(4) 2n

78. In how many ways can 5 men and 4 women be seated in a row so that the women

occupy the even places ?

(r) 2880

(2) 2860

(3) 2800

(4) 2820

79. The value of "Pr-, is :

(l) n !

(3) 2n !

The number of squares that can be formed on a Chessboard :

(1) 224

(2) 2M

(3) 160

(4) 64

80.

UG-EE-Ju ne, 20241 (Statistics-4 YT.XSET-Y/(C)
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81. 'Page' is related to 'Book' as 'Leaf is related to :

(l) Root

(2) Tree

(3) Fruit

(4) Forest

82, Newspaper: Press : : Cloth : ?

( l) Fibre

(3) Tailor

(2)

(4)

83. In 10 years, 'A' will be twice as old as 'B' was l0 years ago. If at present 'A' is 9 years

older than 'B', the present age of 'B' is :

(l) l9years

(2) 29 years

(3) 39 years

(4) 59 years

U- Pointing towards a person, a man said to a woman "His mother is the only daughter of
your father". How is woman related to that person ?

(l) Daughter

(3) Sister

85. Mirror image

(r)l=
(2) E
(3) 

I ?-l
(4) A

of l>l is:

Textile

Mill

(2) Mother

(4) Wife

UG-EE-Ju ne, 2O241 (Statistics-4 Yr.)(SET-Y)/(C) P. T. O.
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Calculate the simple interest of Rs. 72OO at nlqoper annum for 9 months :

4

(1) Rs.688.50

(2) Rs.670.50

(3) Rs.700.1

(4) Rs.690

A man buys 25 chairs for Rs. 375 and sells them at profit equal to the selling price of 5
chairs. What is the selling price of one chair ?

(1) Rs. 14.50

(2) Rs. 15.20

(3) Rs. 17.20

(4) Rs. 18.7s

88. A man riding on a bicycle at a speed of 15 km/h crosses a bridge in 5 minute. The
length of the bridge is :

(l) lkm

(3) 2 km

The HCF or 2. 12 
. 

18 
und !1 i. ,t0 25 25 40

5

1z; r lm

g'1 zlwn

(2\ 2s2
5

@z
140

(3) 3

1400

Find the missing number

s\z zAs
,/13\ ,/? \36
(r) 37

(3) 47

(z) 4t

(4) 18

UG-EE"June, 20Ml (Statistics-4 YT.XSET-Y)(C)
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91. The primary data is gathered through :

(l) Survey

(3) Newspaper

(2)

(4)

Books

Internet

92. Which of the following is a measure of central tendency ?

(l) Mean deviation

(2) Mean

(3) Quartile deviation 
..

(4) Standard deviation -

Pie chart represents the components of a factor by :

(l) Angles

(2) Percentages

(3) Sectors

(4) None of these

What is the main purpose of statistics ?

(1) Tp collect data

(2) To analyse data

(3) To interpret data

(4) All of these

'95. Which of the following is an example of qualitative data ?

'(l) Height

(2) Weight

(3) Ase

(4) Gender

UG-BE-Jun e, ?.0?/ll (Statistics-4 YT.XSET-Y)/( C)
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96. Which of the following is a measure of dispersion ?

(l) Variance

(2) Median

(3) Mode

(4) Mean

Which type of data is best represented by a histogram ?

(1) Categorical

(2) Discrete

(3) Continuous

(4) Nominal

98. If a constant value 5 is subtracted from each observation of a set, then the mean of the
set is :

(l) Increasedby 5

' (2) Decreased by 5

(3) Decreased by 25

(4) is not affected

97.

99. Geornetric mean of two numbers

100. The standard deviation of the following data is :

-1, -2,-3,4n-5,-6, -7

(l)!
t0

(3) l0

l4
- and -. rs:16 25'

1(2\ '
100

(4) 100

(r) -2
(3) 2

(2) 4

(4) 4
UG-EE-Ju ne, 20Ml (Statistics-4 YT.XSET-Y)/(C)
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1. 'Page'is related to'Book' as'Leaf is related to :

(l) Root

(2) Tree

(3) Fruit

(4) Forest

Newspaper : Press : : Cloth : ?

(1) Fibre

(3) Tailor

In 10 years, 'A' will be twice as old as 'B' was l0 yeils u*o. tt at present'A' is 9 yeils

older than 'B', the present age of 'B' is :

(l) 19 years

(2) 29 years

(3) 39 years

(4) 59 years

Pointing towards a person, a man said to a woman "His mother is the only daughter of

your father". How is woman related to that person ?

2.

3.

(2)

(4)

Textile

Mill

(2) Mother

(4) Wife

(1) Daughter

(3) Sister

5, Mirror image of l7l
(l) l--{
(2) E(3)A
(4) A

UG-EE-Ju ne, 20Ml (Statistics-4 YT.XSET-Y)/(D) P. T. O.



(l) Rs. 14.50

(2) Rs. ts.ZO

(3) Rs. 17.20

(4) Rs. 18.75

8. A, man riding on a bicycle at a speed of

Find the

A
3

(1) 37

(3) 47

missing number:

A4
10.

D

7.

calculate the simple interest of Rs. 7zo0 at nlqoper annum for 9 months :
4

(l) Rs.688.50

(2) Rs.670.s0

(3) Rs.700.1

(4) Rs.690

t ry* buys 25 chairs for Rs. 375 and sells them at profit equal to the selling pricc of 5chairs. What is the selling price of one chair ?

15 km/h crosses a bridge in 5 minute. Thelength of the bridge is :

(l) lkrn

(3) 2 km

TheHCFor2. 12.18 und?f i*,to 25'25 40 -- '

a

5

3(J)
1400

fzl r 
]r<m

$t ziu^

(2) 252

5

5)
(4) :1

140

(2) 4t
(4) 18

UG-EE-Ju ne, Z0Al (statistics-4 yr.)(SET_y)(D)
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(2) 
"{;

G)+
2"lt

12. The rate of change of the area of a circle with respect to its radius 'r' where r = 3 cm,

is:

(t)

(3)

13- The point- at which tbe tangent to the curve y - J4*-3- thas its slope

11. If x= t2 and-1,=13, ttnndr'!r=t
dx

1

4t

(3) r

(2)

(4)

2n

6n

4n

l0n

(2) (2,1)

(4) (3,2)

2
-. rs:
3'

(l) (1,2)

(3) (2,3)

14' If /'(x) = ,' +5"od ,f to) : -1. then f (x) = ?

(l) lx3 +5x-1
a
J

I

e\ lr3 +5x+l-3

(3) x3 +5x+l

(4) x3 +5x-l

15. The value ot I trr' * qx*r)dx, is :

-2

(1) r
(2) 2r

(3) 3r

(4) 4r

UG-EE-June, 2OAl (Statistics-4 Yr.)(SET-Y)/(D) P. T. O.
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16. I sinr+cos-r -f :dtt=1' ./l * sin 2x

(l) sinx+ c

(3) cosx+c

Area bounded by the curve

(1) log 4 sq. unit

(3) (log 4 + 1) sq. unit

18. The general solution-or *'9= 6 is :
dx

_h

(l) )=j+c
x

(2) )':6+c
x
1)

(3) )'=I+c
x

(4) )'=x*c

20.

are :

(l) (4,4)

(3) (1, 1)

The maximum value of :

P = x*3),

Such that :

2x+ y <20

x+Zy <20

x)0,)')0,is:
(l) 10

(3) so

(2) x+c
(4) x2 +c

y =logx, x-axis and the ordinates x =1, x= 2 is :

(2) (log 4 - l) sq. unit

(4) (log 4 - 2) sq. unit

17.

19. The order and degree of differentia' dav ++*B+-g++4y-aI equatron 
#-' dx, dx, dr

(2) (4, l)
(4) (1,4)

(2) 60

(4) 25

UG-EE-Ju ne, 20Al (statistics-4 Yr.)(SET-Y)/(D)



21. The mean of 5 observations 1,2, 6,x and y is 4'.Z,then x + y is :

,;. Mean deviation for'n'observatiors -t1,r2,....,x, from their mean 7 is ,

(1) 4

(3) rs

(2) 8

(4) t2

(z) *rr!
n-l

(4)
2

(2) 3

(4) s

I n _2
(r) aI (x, -xf

fl t=l

ln
(2) -I rxi-xt

il i=l

n

(3) L 6t-x)'
i=l

fi_

(4) f rx,-xr
i=l

23. Mean of first'n'natural number is :

n(l)
)

13r I1L
2

The standard deviation of l0 observations is 09. If 2 is

observation, then the new standard deviation is :

(1) 0e

(3) 08

(2) tt
(4) 07

25. Mean deviation from the median for the following data is :

3.9,6. t.4. 12. 19,21

(l) 2

(3) 4

24. subtracted from each

UG-EF.-Jm, 2f2lr(Srdr,icl{ YT.XSET-YY@) P. T. O.
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26. What is the harmonic mean of 5 and 2 ?

20u)
1

IO
(3)

7

The sum of deviations about mean is :

(1) Largest

(2) Smallest

(3) Positive

(4) Zero

(2)

(4)

30

7

40

7

27.

28- The relationship between arithmetic mean (A. M.). geometric mean (G. M.) and harmonic
mean (H.M.) can be expressed as :

(1) A.M. > G. M. > H. M.

(2) A.M.=G.M.-H.M
- (3) c.M.>H.M.>A.M.

(4) A.M.<G.M.<H.M.

29. The range is calculated as :

(1) The sum of all data values

(2) The product of all data values

(3) The square of the mean deviation

(4) The difference benween the largest and smallest data values

30. Mode of the following data is :

3, 2, 5. 2, 3, 5, 6, 5, 6, 3, 2, 5, I

(r) 2

(3) s

(2) 3

(4) 6

UG-EE-Ju ne, 20?Al (Statistics-4 yr.)(SET-y)/(D)
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31. For any positive integer rt,

(1) 0

(2) |

(3) nan

(4) na'-l

32. ttm ** is equal to:
x->0 sin 2x

(1) 0

(3) 2

33. Lim (sec 0 - tan 0) = ?

e+I
2

(1) 0

(3) -l

*n -onLtm 

- 

rs..
x-)a x-a

(2) |
(4) 3

(2)

(4)

1

oo

34. .If ,f (x) =.t sin -t, then

(l)
(2)

(3)

(4)

35. Derivative of e

a

' (l) e'-
(2) 2r

t

(3) 2r-
t

I
(4) 2x'

,'(;) 
'. 

,

0

I

-l
1
?,

2' is:

UG-EE"J :,ryFf Yr-rSET-f-ItD) P. T. O.
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A function /(x) is not continuous ar x = I if :

(r) Liry f k)* f (t)r-+
(2) Lim. f (x)= f (t)x-t

(3) ,f 
t(t) * o

(4) None of these

lx+1" ; r<3
If /tr) =l 4 ; r=3 iscontinuousat x=3, thenthevalueof l,is:

lrr-s ; -:>3
(1) I
(3) -l

39. If x- y = 75, then

(l) o

(3) 2

(2) -2
(4) 0

If/and g be tw-o real functions continuous at a real number 'c,, then which one of thefollowing is not tme ?

(l) f + S iscontinuousat x=c
(2) f-g is continuous ar x = c
(3) f. g is continuous ar -r = c

f
(4) - is continuous ar x = c. if g(0) + 0o6

dy

dx

If x = a(r - sin l) and

(l) sec r

(3) tan 1
2

(2) l
(4) 3

! = a(l- cos t) then 4 = t
dx

(2) cosec r

(4) cotl'2

I
UG-EE-Jun e, 20Al (Statistics-4 yr.)(SET-yy(D)
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41. The primary data is gathered through :

(l) Survey

(3) Newspaper

Books.

Internet

Which of the following is a measure of central tendency ?

(l) Mean deviation

(2) Mean

(3) Quartile deviation

(4) Standard deviation

Pie chart represents the components of a factor by :

(l) Angles

(2) Percentages

(3) Sectors

(4) None of these

What is the main purpose of statistics ?

(l) To collecr data

(2) To analyse data

(3) To inlcrpret data

(4) All of ficsc

45, Which of thc fcfloring is an erample of qualitative data ?

(l) Heigtr

(2) Weigh

(3) Age

(4) cendr

UG-EE-Junc, 20,D|I(Stffr{ Yr-rSET-l.fiD)
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46.

47.

49. Geornetric mean of rwo nu*b.* 1
r6

48.

Which of the following is a measure of dispersion ?

(l ) Variance

(2) Median

(3) Mode

(4) Mean

Which type of data is best represented by a histogram ?

(l) Categorical

(2) Discrete

(3) Continuous

(4) Norninal

If a constant value 5 is subtracted from each observation of a set, then the mean of the
set is :

(1) Increasedby 5

(2) Decreased by 5

(3) Decreased by 25

(4) is not affected

(l)

(3)

I
t0

10

"rdf.i,t25

Q) J_
loo

(4) 100

50. The standard deviation of the following data is :

-1, -2, * 3,4, -5, _6, -7
(r) -2
(3) 2

(2)

(4)

4

4
UG-BE-Ju ne, 20241 (Statistics-4 Yr.)(SET-Y)/(D)
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51.

L1

A class of 30 boys and 15 girls is given a test in statistics. The average marks obtained

by boys is 15 and by girls is 6. The average of whole class is :

(l) r0.5

(2) 12

(3) l2.s

(4) l0

The sum of square of deviations for l0 observations taken from mean is 250. The value

ofvariance is:

(2) 30

(4) 4s

(2) t6

(4) il

Q) t2

(4) 8

(r) 2s

(3) 40

53. The variance of6, 8, 10, 12,14is:

(1) I

(2) t2

(3) 18

(4) 8

54. The mean of t numbcrs is 15. A ne*' number 24 is added. The mean of nine numbcrs

is:

(1) l8

(3) t2

55. The median of the series :

3. I 8, 7.20, ll, 12,,g. 17, ??

(l) 11

(3) l0

UG-EE- Ju ne, 20?A I (Stati stics4 Yr. I SET -Y y(D) P. T. O.
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56. Find out the missing number of the series :

2,6,14,26,42,...

til sz

(3) 72

57. Find out the missing letters of the series :

x ........x,\yyx xywxxL\

(l) ax

(3) -v, x

In a code language if
the same language ?

(1) TPTSLO

(3) SIPTLO

(l) 40 metres

(3) 20 metres

y,y

x, l

'TRAINS'is coded as'RTIASN, how 'PISTOL'will be coded in

IPSTLO

IPTLSO

(2) 30 metres

(4) l0 metres

(2) 62

(4) 60

(2,)

(4)

58.

(2)

(4)

59. A person started walking towards North. After walking 30 metres, he turned towards

left and walked 40 metres. He then turned left and walked 30 metres. He again turned

left and walked 50 metres. How far is he from his original position ?

If + means X, - means +, x means + and + means -, then :

6-3+8x3+4=?

(l) 4

(3) 10

60.

(2) 5

(4) t2

I

UG-EE-June, 20Al (Statistics-4 YT.XSET-Y)/(D)
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(l)1
4

(2\ 1
4

(3) 1
2

(4) 
+

I

I

61. Which of the following can not be the probability of occurrence of an event ?

)
a
J

(2) 1
2

(3) 0

(4) 1

In an experiment of rolling a fair die and unbiased coin, the sarnple space is :

(l) {H1,H2,H3,H4,H5, H6}

(2) {Tl, T2,T3,T4,T5,i6}

(3) {H1, H2:.,H3,T4, T5, T6}
(4) {Hl, H2,H3,H4, H5, H6, Tl, T2,T3,T4, T5, T6}

If P(A) = 0.37 , P(B) = 0.42, P(A nB) = 0.09, then p(A u B) is :

64. Pfobability of occ*rrence of an irpossible event is :

(l) 0.7

(3) 0.68

(l ) I

(3) 0

(2) 0.8

(4) 0.7s

(2) 2
(4) 0.5

A family has two children. What is the probability rhat both the children are boys,
given that at least one of them is a boy ?

UG-BE-Ju ne, 20?At (Statistics-4 yr.)(SET-y)(D)
P. T. O.
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66. Given that P(A) =!, Ptri)= 1 und P(AwA) = I. rhen p(B/A) is :'3'4',12

(r) I e) I66

o? (4)1g \'/ 
2

67. If ? =2. up,-r, then value of 'r is :

(t) I Q)2
(3)3 @)4

68. In how many ways can 5 men and 4 women be seated in a row so that the women

occupy the even places ?

(l) 2880

(2) 2860

(3) 2800

' (4) 2Sz0

69. The value gf 'Pn_, is :

(l)nt e)n
(3) 2n ! @) 2n

70. The number of squares that can be formed on a Chessboard :

(1) 224

(2) 2M

(3) 160

(4) 64

UG-BE-Jun e, 20?Al (Statistics-4 YT.XSET-Y/(D)
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71. The nurnber of ways l0 digits numbers can be written using the digits I and2:

72- In an experiment of tossing three coins at a time, the probability of getting 2 heads and
one tail is :

(r) *
(3) i-

8

73. If A and B areevents *u"n *u, p(At B) = p(B/A), then :

(1) l0c2

(3) 1Or, +9r,

(1) B=Abut A*B
(3) AnB=0

(2) l0 !

(4) 210

orl
@);

(2) A=B

(4) P(B) = P(A)

(2) P(A)- P(B)

(4) P(AnB)

74. If A and B are rwo independent events, then the probability of occurence of at least
one of A and B is given by :

(l) P(A)+P(B)

(3) P(ruB)

75- If A andB are indepenclenr evenrs such that p(A)=] *o p(87=1, th.n p(AnB)5s
is:

(t) 3

25

(2) I
5

(3) 3

l0

@?
5

UG-EE-Jun e, 20Al (Statistics.4 yr.XSET-yy(D)
P. T. O.

D



Dt6

76. In context to the Bernoulli trials, which one of the following is not true ?

( l) There should be a finite number of trials

(2) The trials should be independenr

(3) Each trial has more than two outcomes

(4) The probability of success remains the same in each trial

77. Probability can take values :

(l) 0to2 (2) -2to2
(3)*tol (4)-ltol

78. In case of binomial distribution, for given values of 'n' and 'p'. the probability of x
successes P(x = x) is given by :

(1) 'r, p' qn-'

(2) nr, p'q'-'

(3) p'.q'-'

. (4) 'r* p' qn

79. If a random variable x follows binomial distribution with 'n' number of trials and 'p'

probability of success, then mean of ;u is :

(l) p (2) n(t -p)
(3) npq (4) np

80. The mean and variance of a binomial distribution are 8 and 4 respectively, then
P(x= 1) is :

(r)1 otl2" 26

(3) + (4) I
2" 26

UG-EE-June, 20Al (Statistics-4 Yr.)(SET-Y)/(D)
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81' How many subsets can be formed from the forowing set :

{1,2,3......n}
(r) -n

(2) n2

(3) 2n

(4) 2"

82. lf A={1, Z3},8={3, 4},C =14,5,6}, then Av(BnC)is :

(l) {3}
(2) lt ,2,3,41
(3) {1,2,3,51
(4) (1,2,3,4,5,61

83. In rule method" the null set is represented by :

(l) {}
(2) 0
(3) {r:x=xl

' (4) (x:x+x|

8+ IrtU= [1,2,3,..... l0],A= {l,Z,5l,B = {6,7},thenAnB,is (WhereA,&B,represenr compliment of A and B respectively) :

(l) a
(2) B'

(3) A'

(4) s

85' In a grq d?0 FoPlc- 37 like coffee , 52 like tea and each person likcs a lcasr me of. the rpo &irEs! IIor my like both coffee and tea ?
(t) l7
(2) te
(3) le
(4) 20

UG-EE-Junc t|]&{ yr- ISET-Y fi D ) P. T. O.
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86. The inequahty Z< 3 is true, when x belongs to :

(1) 
[?, 

*)

rrr [], "")' 
(-*,0)

,, (- *,1)

(4) None of these

If A = {1,2,41, then the identity relation on A is :

(r) {(r, r)}
(2) t(1, l) (1,2))_

(3) {(2,2),(1,4)l

(4) { (t, t), (2,2), (4, 4)l

Let A = {x, y, z} and B = {1. 2}. then the number of relations from A into B are :

(1) 2s

(2) 26

(3) 23

(4) 22

89. The radian measure corresponding to -47"30' is :

e\ 15n
72

(a) 9n
72

(2)

(4)

87.

88.

l5o) --1r
72

(3) -Pn
72

90. The vatue of sin [fI) ,, ,\.6i
t;

fl) -f:
2

(3) -+
42

I
2

J1
2

UG-EE-June, 20?ll (Statistics-4 YT.XSET-Y)/(D)
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91. The additive inverse of (2 + 3i)2 is :

(l) *5+t2i
(2) -9+tzt
(3) s-12,
(4) 9-t2i

92. Multiplicative inverse of 4 + 7i is :

(1) (_4*7i)

(2) -4+7i

(3) - !*l; -

65 65

@\ !-7 ,65 65

93. How many terns are there in A. p. 20,22,24,26,.... , 100 ?

(l) 40

Q) 42

(2) 41

(4) 43

94. The sum of the first 15 terms of the A. p. 5, 10, 15, 20, ..... is :

] lilr I

- -_l

l-

95. Ir '

r | *:

,.t

t-1

r+

rl lz ll
o)=L, -r)' 

then value of a and b are:

uG-EE Junc 2CI2{r(strh{ics4 yr.{sET-yy(D)
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90. Inverse matrix o, [ ' -'l ,. 
'l-4 2 )

(l)

(3)

D

+l
z)

+l
1lo_J

rlz :l_tt
814 z)

t lz :-l
-tt814 z)

is:
2 -3 I

4 05
-l 67

,, -* 
[;

*, *[]

(2) 33

(4) 32

97. The minor of -3 in the determinant

(r) 30

(3) 28

98. Let A be a square matrix of order 3 x 3, then lKAlis :

(l) 3K tAt

(2) K tAt

(3) K2 tA I

(4) K3 tA I

Matrices A and B will be inverse of each other only if :

(l) AB = BA

(2) AB=BA=0
(3) AB=BA=I
(4) AB=I,BA=0

100. Which of the following is not a property of inverse of a matrix ?

(l) (A-t;-t = O

Q) @r)-r =(A-t;r
(3) (AB)-t - tr'13-t

(4) AdjG-\= (Adj A)-l

99.

UG-EE-June, 20241 (Statistics4 YT.XSET-Y)/(D)
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